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debasish chakraborty 9 hours ago Nadeem 1 hour ago
‘Homework Puzzle

Homework : PYTQUSWR B . .
THANK YOU MAM. AWESOME SESSION. © From Top to bottom - PVTQSWRE]
€ Thank you Mam@ P M

ah &GP REPLY

gy GF REPLY

Rajnandini Pal 19 minutes ago
Nabanita De 7 hours ago

H.W-PVTQUSWR.Thank u ma'am.
gy GF  REPLY

Homework Answer
Top to bottom: PVTQUSWR
Thank you so much ma'am

gy GF REPLY

FLOOR81to 1: RWSUQTVP
PYTQUSIR 5 GP  REPLY

- A I . T~
Thank you ma'am! Deepali Rajlani 8 hours ago

o laxmipriya das 1 hour ago
Rahul Bhakat 2 hours ago From11to8

Homewaork answer
PVTQUSWR
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Eight persons viz.P,Q,R, S, T, U,Vand W
are living in an eight storey building, but not
necessarily in the same order. The
lowermost floor is numbered 1 and the floor
immediately above is numbered 2 and so on.
Not more than one person lives on the same
floor.

Q lives on an odd numbered floor below the
sixth floor but not on the bottommost floor.
Only two persons live between Q and P, who
lives above Q. The number of floors between
Q and P is one more than the number of
floors between Q and S who doesn’t live
adjacent to P. There is only one person living
between P and T who lives immediately
below V. Not more than two persons live

between U and R who lives immediately
below W.
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TS IATFT AT P, Q, R, S, T, U, VIHITW TH
HTS ATAT AR A T@d &, AfheT TR AST
o 53t 7o & &1 | oA el A i e
12 3IRSFFRA AT A FEar2 g 3ix
5! e 3ma ofY | vk Y AT W o A Hfw
cqfed g1 W 6|

Q T AfSTT & o< v [wer gEam areht
AT W IgaT € Afre a9 Al AT W
AeI Ear gl Q3R P & Mo Faarafda
{Ad e, ATQHFRIEATel QIR PF =
AfSral HY T&IT Q 3 s F T AT Y
HEIT A UF HF & ST P & HTHeT A1 Tgdl
T Fad T AT F AT IEATE PR T, STV
& SF AT WA &1 U IR RF ALT S A A&+
IfFd AT WA &, ST W & Sh A Igar g
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Eight persons viz. P, Q, R, S, T, U, V and
W are living in an eight storey building,
but not necessarily in the same order.
The lowermost floor is numbered 1 and
the floor immediately above is numbered
2 and so on. Not more than one person
lives on the same floor.

Q lives on an odd numbered floor below
the sixth floor but not on the
bottommost floor. Only two persons live
between Q and P, who lives above Q. The
number of floors between Q and P is one
more than the number of floors between
Q and S who doesn’t live adjacent to P.
There is only one person living between
P and T who lives immediately below V.
Not more than two persons live between
U and R who lives immediately below W.
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Four of the following five are alike in a certain way and hence form a group.

Find the one that doesn't belong to that group. ‘
e gy # § 9/ v AT aiid @ A § 3R sufev s

HHE 9 31 9% W A 3 FHg @ HEOd Al g
AW
B.T
c.U

D.P
E.V
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In which of the following floor does R live?
farafafaa & @ g Aaf9a & R w®ar 82
A.4th
B.5th
C.1st
D./th
E.8th
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How many persons live between T and W?
T 3k W & #e ffds safdd 8 872
A.One

B.Three

C.Two

D.More than three

E.None
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If all the persons are arranged in alphabetical order from top to bottom, then
how many persons remain unchanged in their positions?

afg woft =l A 3R & A aF Juiegea & gaffya fFar s @, at
frdsr safed 3var T W 3aRaEfda B 87
A.One

B.Two

C.Three

D.More than three

E.None
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If P is related to T in the same way Q is related to S, then U is related to

I P, T¥ Gaflra § 3 ¥R Q, S ¥ wafda &, at U #mﬁ?r%?
AT

B.Q
C.S
D.W
A
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SHATFAP, Q, R, S, T, A, B, C, D 31X E U U= AT
sﬂm#wwwﬁ%ﬁ;maﬁmﬁ sH%
ST Aforer 2 & 31T o #fSrer Y gEaT 5 ¥ vAw
AT AT -1 IR FAT 2 FTTH 2 Fale & | adA-2
FTFC-1, T 1 FFAC-1 FAF FW IR TA-3 &

TFele-1 & 1 AT 8, sca1ie | 54 TR dd-2 FT Fole-

2 dd-1F Foe-2 F AF IR IR AT-3 F Fele-2 &
S A g 31 Y avg ey oft | wele-1, w2 &
qfRad & 81 Q U v TEar arel AfSrar @ @ar g
TIR BN TH E Folc HEATHTEA &I RITATH
AT ATRIAL CFlc AT 2 A AL Warel ar
AfSTal &1 3aT § FwH Q 3R P w@ar gl p 3R Q=
TS 8 Folc AEATH AGT @A & | T THATA Folc T&ATH
PHF IS IWRIEATE | Th AT FT IR e TaAT
3R B @A &1 E, S Ush WH HEAT aTell Aol U< IgdT
8, A % A1 wgar 8 3R gl v @Y wele WEa A @
§1D, SF FU TgdT ¢ 3 &l Toh &) Fele HEATA
EaglcisTANTF A FICATR AR T
U g AfSTeT 7

Ten personsP,Q,R,S,T,A,B,C,Dand E are Iivi?g'in
a five storey building such that ground floor is
numbered as 1, above it is floor 2 then top floor is
numbered as 5. Each of the floor has 2 flats in it as
flat-1and flat-2. Flat-1 of floor-2 is immediately
above flat-1 of floor-1 and immediately below flat-
1of floor-3 and so on. In the same way flat-2 of
floor-2 is immediately above flat-2 of floor-1 and
immediately below flat-2 of floor-3 and so on.
Flat-1is in west of flat-2.Qlives in an odd
numbered floor. Both T and B lives in the same flat
number. R and A live in the same floor. C does not
live in flat number 2. There is a gap of two floors in
which Q and P lives. Both P and Q do not live in the
same flat number. T lives immediately above P in
the same flat number. There is a gap of one floor in
which T and B lives. E, who lives on an even
numbered floor, lives below A and both lives in the
same flat number. D lives above S and both live in
the same flat number. C and S neither live in the
same flat number nor in the same floor.
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Ten personsP,Q,R,S,T,A,B,C,Dand E are Iivi?g'in
a five storey building such that ground floor is
numbered as 1, above it is floor 2 then top floor is
numbered as 5. Each of the floor has 2 flats in it as
flat-1and flat-2. Flat-1 of floor-2 is immediately
above flat-1 of floor-1 and immediately below flat-
1of floor-3 and so on. In the same way flat-2 of
floor-2 is immediately above flat-2 of floor-1 and
immediately below flat-2 of floor-3 and so on.
Flat-1is in west of flat-2.Qlives in an odd
numbered floor. Both T and B lives in the same flat
number. R and A live in the same floor. C does not
live in flat number 2. There is a gap of two floors in
which Q and P lives. Both P and Q do not live in the
same flat number. T lives immediately above P in
the same flat number. There is a gap of one floor in
which T and B lives. E, who lives on an even
numbered floor, lives below A and both lives in the
same flat number. D lives above S and both live in
the same flat number. C and S neither live in the
same flat number nor in the same floor.
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Who among the following lives in flat-2 of 4th floor?

fAfef@a & O &ia ately AT & Fale-2 H |ar &2

(a)R
(b) A
(c)p
(d) E

(e) None of these
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Who among the following lives with Q in the same flo = -

frafaf@a # @ Fi QF U TF g Afod W @aT 872

(e) None of these
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How many floors are there between C and R?
c 3 RF ALY fFas A &2
(a) One

(b) Two

(c) None

(d) Three

(e) Cannot be determined

Floor
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B lives on which of the following floor?
B frafaf@a & ¥ fFw #Afear W TEar 87
(a) Floor-1
(b) Floor-2
(c) Floor-3
(d) Floor-4
(e) Floor-5
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Four of the following five are alike in a certain way and hence form a

roup, which among the following does not belong to that group?
%rm%ﬁ?r’ g # @ TR vF AfREd alie @ gaer § AR sufav vw w@ag
T 8, rfaf@d # ¥ Fla 37 w9 & wefa 76 87

(a) A
(b) E
(c)s
(d)D
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Study the following information carefully and
answer the below questions

In a family there are six persons viz. F, J,
G, K, M, and S and has two generations. K
and M are brothers-in-laws. F is the only
daughter of G. G and S are of same gender.
F is the daughter-in-law of S who is not a
parent of K. J is the mother of F.M does not
have any siblings.

frfaf@a SRl #1 earqd® sreaaaT w3
AT RuITRRAT F3awE

U IRAOR & ©g cafFd 8 37411 %, o, Sft, &,
oA, 3R T 3R s Y Difear &1 k 3t M s1eT-
ge1-alT 8| F, G Y §helld! TN &1 G 3 S WATA
R FEIF sHrag T, ST K FTATA-RGT 181 &1
), FEYATE| M FT RS TS-aeT AR 2
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How J is related to K?
A.Mother

B.Father
C.Mother-in-law
D.Father-in-law
E.Can’t be determined

1, K ¥ 79 YR e1d 82
A. HATAT
B. [ar
C. O

D.HH{Y
E. ruTRa 1€t fFar ST ahar

G(+)— I(-) S(+)

(+) Male
./\ l (-) Female

K(+)— F(-) = M(+)

—— Married
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Who among the following persons is the Son-in-law of G?
PafRRaTAdslacFTeHER?

A.The one who is the brother of F

B.S

C.K

D.The one who is the son of S

E.None of the above

G(+)— I(-) S(+)

(+) Male
./\ l (-) Female

K(+) F(-) == Mm(+)

—— Married
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M6 eadd -G, M, L, R, KVJaﬁTPa»'rrrnm
37T ST 3 g3 9T -1989, 1983, 1995, 1987, 1993,
2000, 1997 31X 2002 AT ITTTF 78T A HH H &Y
q—am—qﬁ?raﬁrma?rmmaﬁ(zom),wﬁﬂ?lﬁ
31 33 R & 3R 9T Y AT ¥ 3 F TAH Y
3TCIT-37T T THE & o8 A, ATed, FTell, JTal,

s IelT, SITe, wﬁﬁvﬁ@ﬁmmwaﬁ@mﬁ

3
drl gfFd F AT AT @ 38k © I T ST H

§IT| L 3R &0 T IE 3 a1l & iy gt s it e
gcirl P 3 doreit o1 gHE FYet AT F T Faa vH
—qﬁ-T-rasra—ngsnaTl R 30X ) Y 3T 3T TeT T
mmﬁm-qﬁ?raﬁrma:wavm Ma?ramr
;hmwmmﬁm—qﬁ?ra?rma:awﬁﬁw
a¥ &3 oft| G 31X FTET T IHE FIA a1 & g e
—qﬁ-crﬁargu‘rle HTIT T S Hhlal dlel A fad &
qwf)a'rgarrmm JEFSTUTI V, KT 2 99 ST 1|
mwmmmaﬁmwwmeﬁuaﬁ
Hihe T 9UE 8T &1 98 saTed o/l ST U, a8 5
. ST I[OTST 81 &

Eight people -G, M, L, R, K, V, J and P were

in different years -1989, 1983, 1995, 1987, 1993
2000, 1997 and 2002 but not necessarily in the
same order. Each person’s age calculated with
respect to the year (2018), same month and
same date. Each one of them likes different
colours viz., White, Maroon, Black, Pink, Blue,
Red, Green and Purple but not necessarily in the
same order.

More than three persons were born between the
one who likes Red and the one who likes Pink.
Two persons were born between L and the one
who likes Green. Only one person was born
between P and the one who likes Purple. Average
age of R and J will be equal to the age of the one
who likes Maroon. M’s age was one year less than
the twice the age of the one who likes Blue. Three
persons were born between G and the one who
likes Black. G was born before the one who likes
Black. R was elder than J. V was 2 years younger
than K. The age of the one who likes Pink was an
even number. J does not like White. The one who
likes Maroon age was not a multiple of 5
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Eight people-G, M, L, R, K, V,Jand P were"
in different years -1989, 1983, 1995, 1987, 1993,
2000, 1997 and 2002 but not necessarily in the
same order. Each person’s age calculated with
respect to the year (2018), same month and
same date. Each one of them likes different
colours viz., White, Maroon, Black, Pink, Blue,
Red, Green and Purple but not necessarily in the
same order.

More than three persons were born between the
one who likes Red and the one who likes Pink.
Two persons were born between L and the one
who likes Green. Only one person was born
between P and the one who likes Purple. Average
age of R and J will be equal to the age of the one
who likes Maroon. M’s age was one year less than
the twice the age of the one who likes Blue. Three
persons were born between G and the one who
likes Black. G was born before the one who likes
Black. R was elder than J. V was 2 years younger
than K. The age of the one who likes Pink was an
even number. J does not like White. The one who
likes Maroon age was not a multiple of 5
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Who among the following person likes White?

frfaf@a 7 & i g% W1 g6 FIGT 82

Q 1983 |35 Purple
:
¥ el e ol el
. None of these g (% (B [

ol il il el
il
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If M is related to White, L is related to Pink, then R is related to which of
the following?

ﬂﬁMW#mﬁt—r% L 7erell & wafdd 8, o R A=faf@a & @

frad gdfa 872

A.Pink

B.Black

C.Blue il il el
D.Green
E.None of these s el il el

- -

ol B
el A
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Four of the following five are alike in a certain way and hence they form a group.
Which one of the following does not belong to that group?

ﬁmﬁi@awﬁ#wwﬁﬁaaaﬂé:#w%aﬁtwﬁvawm
T 31 fAFafaf@d & ¥ sl a1 39 a9F & w9fa a6 872

A.M

B.The one who likes Red
C.The one who likes Black
D.K

E.G
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V likes which of the following colour?

V & aafaf@a & @ i a1 1 gag 822

A.Red
B.Pink

. 1983 | 35 Purple
- el ol il
E.None of these 1993 (%5 [t

ol B
o
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What is the age difference between P and the one who likes White (in
years)? ‘ ’ ’ ‘ ’
P 3R a%¢ 7 98 HIA a1 safdd $r 3G 7 frae i ¢ (aui #)?
A.3

B.2

1983 | 35 Purple
:
E.None of these il bl il il

-

-
o
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Statement:
P<Y=2J]:;L=U<O;I>LG=Y

Conclusion:
). O > 1
.G =]
. U =Y

A.Only I follows
B.Only II follows
C.Only III follows
D.All follow
E.None follows
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Statement:

M<S<A<C; O=2C=T=2B;K=2L>T>YV
Conclusion:

). K =B

). A<L

). K > B

A.Only II follows

B.Only III follows

C.Both II and III follow

D.Only II and either I or III follow
E.None follows
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If a four letter meaningful word can be formed by using the second, fourth, sixth
and seventh letters of the word “JOURNAL" then what is the second letter from
the left end of the newly formed word? Mark X as your answer if more than one
word is formed. Mark Z if no meaningful word can be formed.
qfe ereg "Sete” F gAY, G919, B N A HER T 3YANT FF TN HEW
$T HYYUT 2Aeg TAT ST Fohedl ¢ ol AT & ¥eq & dI¢ BR A AT 4T
g2 IR tH A s s FAT § AN X &) 39 3R & T A FY| Ife
FE ATAF g AGI ST ST HhdT & Y Z U AT ey

A.R
B.A
C.L
D.X
E.Z
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